Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4425-26.dwg

POWERED BYIH

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ' D R - 6 1 1

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 Interational Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4, drawing.

Conditions not covered by this drawing are subject fo further engineering
analysis.

TABLE OF CONTENTS

SHEETH# DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details {lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

idiWiN

~=—— 37.5" MAX. FRAME WIDTH ——=

81.94' MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A
FRAME HEIGHT {OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F-11852

Documents Prepared By

LIP LITE INSERT

INSWING

LIP LITE INSERT

OUTSWING

)
L]
z
9
o3
3
= o B
> X <©
= [
] 2l
) v
al .9
<
e o S3
=0
= S| & o
o 2
o n.
D= 1D
Li=lsim
5
Ly
4
=}
80
ol
2R
Sle
8) )
Dl (£
il 10O
Dalus' s
SI2IE &
N~hV)J B
Oler} <
RIF|x
Qh
e
QEQ
alua
Slx|<
bt [{e3
] e
RNJE
NORIS
o [-|S
oare: 1,/07/14
SCALE:  N.,T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4425

SHEET _1 oF _5

© 2014 R.W. BUILDING CONSULTANTS INC.



CON] SANVLINSNGOD ONIgTNng "My v LDOZ @

Ze8il—~4 # NOWVHLISIONY 40 3lvOLULs30 SNOISIAGY
SHIINIONA YNOISSIA0Md 40 QuVOE SvXal (9NIZy19 1¥3SNI 31N dIT) Ad 4ivad [ON
SVL3A TINVd ¥00a THoilxln] o 5~
LELE'ES9'CLE FON Suoyd . Sd1 SAIOHS3YHL d3aavial/zo/Lil | NI
S6SES 14 OOUIDA 0£Z Xo@ ‘O'd \S@% "ATBNSSY d0 1dvd | I | ATNO 03Z¥19 1¥3SNI OL G3SIA3Y| 81/2/11] 2 |1 s
*ONI *SINVLINSNOD SNIaTIing S47| 3000 O¥I/D8i 8102 0L 3ivadn|itz/0L/iil € m = . g v_A 2_
- BlElg &
SZLPOLF T'd SWXAL VaNan3 i m e m
Ad IPRUYDS 4 uopukl :Ag peuodesd sjusuinoog 1oNaoYd 2181218 m =
<
»..,
% LAINHOS 4 NOANAT &
s vveetsvansessravenansesenozrrss s
AR FR
R Sy &
X SXE
b, &, NI
8y Bt e S
W33 00 AE
SRR o
Q =z
W'l & A - o
>3 -~
w O
oy
(7%
« = < — 1%
...b. B . R rV.v* K r v . . A ca ,_404 m
L] 4 ’ . 4 ~ Ab . < -~
T cas oy U Cg T - (¥
’ N L A b < L ..4 v —
o »...w - .\..%4, ST ﬁAu
oL w
©] . - =
[+ 4 [2%] N
= Z o
£ & - mw
oE zJ 2z
) T o (@]
=> © = s
30 3Z
——— :WN.— e ﬂVb W.\-_V m
o w S
0. Fragl =X
<
« \ O ,
v
it >
9 4 7]
< % 3
o O o
] A= 28 8
. fr} s 2 &
= = i = a @ a
a ° 2 O 2% 3
oy 3 Z =& -
17 w N x © o
= = = =< = H
S & ? =
— A BNV
oot = “ # m AMA
T W =) m o<
b ha .. N ° $ N [ 7] mv
. .“A...b.. M m M..‘M
e O o 5O
. 9 D.an‘v
I Ok
oS
p-d
S X 5
d 2 oL o M
w w Q o %
b ks & & o
2 oy £ SR
o & £ / B2
o 3 o = y =
o \ Q O -~ 7 77 =
o \} & et =< O
= # 5 < 2 -
prd i b 3=
B S
N
ac
/@ O
x
q
mw
» el O\
(=1
q ve
a. < oo .w‘m_
T s o ST
3 T N g
. C e @ = W. omu@
q v m = O
. . 5 2
. . olg &
e .o R =
i A =
. B = 5
: | . o i
7 A 5 X5 = .
<07 ¥ i 38 IHOBH OTd
A ] \ 9 om o XYW .0'E9
= £ NS fa O
|8« =
* IHOIFH 13NVd
bR T g 4000 XYW .5C'6.
» z
: 2
& o

Bmp9z-52rP-X1\0Z02 AFu\sBUIMeIq - D\Z19 ysnid sse|Biaqi4 odiseld L19-HQ - 1L\suf 40 1daq sex) - S\ININVINYId BINpuI\sIusd\Z



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4425-26.dwg

D
g /
a
/
(N | X ]e
3/ o}
/
A
/
|
b 4
/

(AN3N 12N
NGV

hvd
T LATCH: KWIKS

DEADBOLT: KWIKSET SIGNATURE SERIES

(980/985)

ET SIGNATURE SERIES
(991)

EXT. SHEATHING \ A

174" MAX.

—] 2X FRAMING
> (G>=042)

S / DRYWALL

< l—#10x 25 PFH
1 WOOD SCREW
/ :

SHIMSPACE |

DOOR PANEL .

EXTERIOR

A\

0.15"
C'SINK
(TYP.)

ui

L HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

INTERIOR

CORNER PADS (TYP.)

1/4" MAX,

/ 2"\ VERTICAL CROSS SECTION

w Outswing shown - inswing

also approved

0-]5" 0.1 5"
SHIM SPACE — CSINK CHINK
EXT. SHEATHING YP) (P}

2X FRAMING e

(G >=0.42) ”\

/— #10 X 2.5" PFH WOOD SCREW

xﬁ\.}‘\.{t
S wie
o (b vy 0
"o PO S
;3‘ *?"‘.'. E E
~IHN L
Ty 10
3. )
A AN
o, 15
XL, 0
!&' ‘(QS‘ .“"0.3 Z
eiz K el
el
V™

MAX.

#10 X 2.5" PFH WOOD SCREW N\

DRYWALL ‘/

#8 X 2.5" PFH WOOD SCREW

AN

#8 X 3/4" PFH SMS

4"HINGE

N R g Mg

]/4!:
|f | SHiM SPAiEEXT. SHEATHING

=== 2X FRAMING
/ (G >=0.42)

JAMB ENDURA WEATHERSTRIP  JAMB
“ FC;IEDBU DR//; &%}HERSTR‘P (QEBD/PE 650)
EXTERIOR EXTERIOR
§ Z
INTERIOR INTERIOR
#8 X 1" PFH SMS

/1" \ HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

\' DRYWALL

#8 X 2-1/2" PFH WS

LATCH STRIKE PLATE

uj
ey
g2, Ed
£x g 8
B uf gg ey
« 0 = L
W _Ex{;, W
:: - A%
85 £33 2z
> 58 aE
) 5@ U
A>n @E
. 58 gu
& Oo: Ff
o ©xz %
H Z oL
[y mo e
g 345 0o
® Rok %k
o o o 05
B Iy
: 9E
E e
Q
[+]
0
(%)
45
< =5
o oy =
) - O’(})-‘
S g8
&
& &l Sv
7] IDO:
X 2 Q
e 4
O
2 o
o &
0. [+
=0 1>-
gzbm
5
Y8 ]
9|8
8
)
el
<[
oe )
D] 2
xiQi |O
RIS |©
oSlZIEl =
NZL’} Bn
ool [+
= lE
R
zal8
] o B
- [{s]
o %
SN
Skgz
}b}o
=S
oatE: 1/07/14
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4425
SHEET 3 oF 5

© zpo14 R.W. BUILDING DONSLULTANTS INC.



© ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4425-26.dwg

\\

INTERIOR EXTERIOR INTERIOR
DOOR PANEL
e DOOR PANEL
ENDURA
DOOR SWEEP ENDURA \\
(DBK-R) DOOR SWEEP
/i? / (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR TW CONCRETE SCREW

m VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

s ——»J

1 INSWING ADJUSTABLE THRESHOLD
ZAIL4565

! 4.56" !

6 INSWING ARTICULATING THRESHOLD

IACL4565
e

r— 1.49" =

L-——————* 4.56"

\

EXTERIOR

ENDURA
WEATHERSTRIP

//

(QEBD/PE 650),  INTERIOR

Y\ EXTERIOR

DOOR PANEL
ENDURA \ //
WEATHERSTRIP INTERIOR
(QEBD/PE 450}

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

W Inswing Articulating Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

W Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/"4 "\ VERTICAL CROSS SECTION

w Outswing Bump Threshold

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS
BY

] P NGE
| | | ! | !
456" | . 456" | 456" . l 456"
2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS

|

INSWING ARTICULATING THRESHOLD

4.56" !

1 QUTSWING THRESHOLD

ZOBL4565

‘ 456"
7 INSWING ARTICULATING THRESHOLD 3 )INSWING ARTICULATING THRESHOLD
ZAC4565FN ZACLAAA4565

| 2 |

% 5

< =

—~——»l - 456" - |
12) QUISWING THRESHOLD
ZOB4565FN

IACAA4565FN

L—~—— 4.56"

10 INSWING ARTICULATING THRESHOLD

ZACA4565RDS

11/7/18 IREVISED TO INSERT GLAZED ONLY | MT | PART OR ASSEMBLY:

11/10/21{UPDATE TO 2018 IBC/IRC CODE
11/02/16 |ADDED THRESHOLDS

NO. DATE

1

MmN

REVISIONS

DATE: 1/07/14

ScAlE:  N.T.S.

4.56"

,l L—*—~ 4.56"

13 OQUTSWING THRESHOLD

ZOB4565RDS

14 OUTSWING THRESHOLD

FOB4566

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4425

SHEET 4 oF 5

© 2014 R.W. BUILDING CONBULTANTS INC,



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4425-26.dwg

— 2X framing (by others) SHENATY 2 n
(E) w Z o e }b‘lz 4% 0
g0 PR ERC S 53 2 o
0o e R i £xr & o
g o o Hp= . E Y o W o
*05 SxS O iTE G B zc
«,.r—-o M rrj‘l.':' 10t O oy G T
© R B~ i i Wt ZE‘S Gu
Ly IR 20N g b &= e
{ ‘ A §5 32 3
T 1 1 I G G EF B8 oP
IOTNS AR A o9
SEE HINGE : T : } G P2 1 3-2 {E
DETAIL 1 NE T " * . Uy % wi> Zow S0
? #10X 2.5" PFH o My s & oa - EO
. WOOD SCREW|| . o 3 < AN o 932 .°
B (YP.@HEAD || ° & F oo t §%g ;¢
o AND JAMBS) — 58 § 592 g
. ; a & ned g%
- 3¢} . 2] oe
. 5 : 2
¥ | LR
g ———1L. O s o
g - SEE DETAIL 3 ~_ Qﬂ g
SEE HINGE it
DETAIL 2 B a T
. 1 2
o ©
el t E 3 g T
[ i J 2 |32
pome — ~o = o] <<
1 N - R Fil
s X LIt ol =
<
%). S % L
HINGE JAMB #10X 2.5" PFH WOOD SCREW STRIKE JAMB 3 c
1/4" X 2-3/4" DeWALT OR z =
FRAME ANCHORING [TW CONCRETE SCREW ”
X (TYP @ SILL) {_’.j’ Skl
>
Wiz
FLOOR SUBSTRATE MATERIAL (TYP.) 818
CONCRETE (MIN. 3000 PS) _ DEADBOLT STRIKE g Q
>= N
WOOD (G>=0.42) #8 X 3/4" PFH WS PLATE g3
g 8- |w| 2
#8 X 2-1/2™ PFH WS SEIR B
LATCH STRIKE 52 = g
PLATE ol § o
DETAIL 3 wig ';
i <|9im
CONCRETE ANCHOR NOTES: Lock strke plates £zis
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. 2% =
edge distance fo mortar joints. ng W
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to \)\ #8 X 2-1/2" PFH WS e N N e
maintain the min. edge distance to mortar joints, additional concrete anchors / P #8 X 2-1/2" PFHWS b: Na)
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. e L] o v T 3
3. Concrete anchor table: . 4,. i :. i w12
~—— 4" X 4" HINGE iy g scaE:  N.T.S.
e T o R Boobdtahnabiiaraiai N\ 4" X 4" HINGE
nmw " ' CHK. BY: LFS
® i - . N
TapcoN® | 1/4 2172 HINGE DETAIL 1 HINGE DETAIL 2 ORAWING G
DeWALT o 1/ar " TX—4425
ULTRACON®| 1/
sHEeT _ 5 oF _5

© 2014 R.W. BUILDING CONSULTANTS INC.



